SUMPORRIESANINTOI S s

SEUME’OD SuUMPO EPD — R EE A AT IR B RS
.. S4FNBEEE (EPD) ST KX A 1-14-8
VERIFIED KANDA SQUARE GATE

EHES © JR-AI-25032E https://ecoleaf-label.jp

FUJIFILM

Value from Innovation

BEIAIL EVRR /- vavtEHatt
FUJIFILM Business Innovation Corp.

A3 B/ ODOEEH

A3 Monochrome Multifunction Printer

Apeos 3061 (Model-P-1T)
. (for JP)

FUJIFILM

Apeos. Apeos 0. ApeosPro. ApeosPort SKTF ApeosPrint (. BEXITAILAESRRA I R—2 3  HARHOBREEFEZ(EBEHIETT .

HEHML BRES JR-AI-25032E
8a1 Ay HEFPCRES  pA-590000-Al-08
PCR% ERA L DR
HEMNRERRE NEIS! 20254108 2H
WS O f8f REEETEE  20254989H
OBFEMREE QEE @B OFFER - REEA YATLRIEA R
®FEZE- U1 R ES 2025-FB-EL-013

RAIEEIRE 2030498 8H
MROBRK, TEMLH-FEx PCRLE1I-DETE

ity : Apeos 3061 (Model-P-1T) s H 20236 9F 1H

FAWahtk

TEMK  T/V0EESHE EPAR)
FNRIRE : £/7030ppm (A4 LEF)
BAABTIZX A3, 11x17"
pUVAVal4s

0 7B D Rl B

ZER M5 B2
(AR — AR EIR A Y AT S TR EHEE )
B=ERE BEHT
S ERIRIER

ISO140251 2 1e AT E R UT—F DML LIAREE
OREs [ Pk

*YAT LR ER I EEANORIEDSA>, VAT LAREAETLEEAD
£EIERH,

SELXITMIWLESRRA I R—>3 VikRatt

EETRAXMAREHFS V6T B1E
https://www.fujifilm.com/fb/

Z5&ES ¢ JR-AI-25032E


https://www.fujifilm.com/fb/
https://ecoleaf-label.jp

SUMPORIESANITOIT A

SuMPO

EPD SuMPO EPD — A EEAYRT S I E RS
| .’——— F1TINREEE (EPD) BRATREERME-14-8

VERIFIED KANDA SQUARE GATE
BERES JR-AI-25032E

https://ecoleaf-label jp

PAPLEMI-Z - Bt

FRRRE | WASE | AR ﬁ’z’gﬁ Py
SREZEE-GE kg-COzeq 2.94E+02 1.65E+01 2.43E+01 9.67E+01 6.40E+01
AV ERIE kg-CFC-12eq 2.85E-05 2.71E-08 2.23E-08 2.22E-06 1.29E-08
EXREL kg-P04132-eq 7.85E-03 3.25E-04 1.47E-04 3.20E-03 6.76E-05
74 kg-SOzeq 9.07E-01 1.17E-01 3.32E-02 4.52E-01 6.54E-02
HALZEAEIIV L kg-CzHieq 6.30E-03 1.02E-05 2.25E-04 8.24E-04 4.88E-04
FEEYME R B-ILY kg-Sbeq 4.03E-01 6.50E-05 1.08E-05 2.02E-02 1.23E-05

S1THLIIWAIRY Y 3 REIEE R

—REBRDERICET2151Z
s . . fEF - HEFF

FRREAERR | &R TRIBER P e BEEERPE
BEAEE—RER MJ 8.66E+00 2.45E-03 1.97E+02 6.56E+02 5.26E-03
EBEARE—RER M) 8.32E+02 1.88E-01 2.77E+00 1.37E+02 7.00E-02
BAEARE—RIRIF- M) 6.89E+02 1.49E+02 7.59E+00 4.93E+02 2.76E+01
EBETRE—RIRIF- M) 4.99E+03 5.94E+02 2.89E+02 2.36E+03 3.20E+02
RKDEEE m? 2.05E+00 1.13E-02 2.07E+01 6.91E+01 4.95E-03

HEREICETZEMIER
cBARZEHEIELLTEELELE,
EABEPHR)DIZERYFUATEELTVET,
‘B SOREFEABBESERTT,
(B - MBS LB RENRIBROBTEIEENE A,
EARBOENE, IRVF-R9-T0Y5 LVer3 28 (SR> CAELATECEZ TICEELELE,
R EENRIFER (L, 135,00080TT,
1/4 x30 (Y3J/B) x 15 () x 5 (B) x4 (B) x 12 (7 B) x 5 (£E) = 135,000#%

ZOMOIRIBEEER
IRINF-RF-T0Y5LVer3.2 BE,
E-HE (EREBS) Bifig HH CAS No. BT
E s 21 kg - B
Sus 0.14 kg - B _
PIVIZUh 0.53 kg
ZoftER 35 kg ERALEZRT-IDEZXH
T3AFvY 20 kg [REAI(E, LCIT-9R-IDEA Ver.3.4, SUMPOREINIL TOIS L& FTT -
dL 0.25 kg Ver1.15&{EALTVET,
A5 14 kg
- A 5.4 kg
REEEER 0.72 kg g
P 1.9 kg -
Z0ft 1.3 kg

OT-FIHEDHEF. PCRELUBEE - EEREESRBL I,
OLLERIIDVTE, BE - EERBICRESNRAEEH LSS LULARDONEEA,
(BHFURL : https://ecoleaf-label jp/regulation/)


https://ecoleaf-label.jp/regulation/
https://ecoleaf-label.jp

